12. Urn I contains 2 white and 4 red balls, whereas urn II contains 1 white and 1 red ball. A ball is randomly chosen form urn I and put into urn II, and a ball is then randomly selected from urn II. What is 
(a) the probability that the ball selected from urn II is white;

(b) the conditional probability that the transferred ball was white, given that a white ball is selected from urn II?
The answer of (a) is 4/9 and the answer of (b) is 1/2. 

Please show me how to get these correct answers only for part (b). 
